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WUms: Jata: ___ Ouenka:___
71 x90% = 50 x20% =
66 x 70% = 65 % 60% =
43 x 50% = 83 x 30% =
54 x 30% = 48 x 30% =
99 x 30% = 61 x 30% =
2 % 80% = 56 x30% =
91 x 20% = 52 x70% =
90 x 10% = 31 x 40% =
74 < 30% = 7% 10% =
18 x 30% = 74 x 90% =
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Nwms:

71 X 90% = 63.9

66 x 70% = 46.2

43 x 50% = 21.5

54 x30% = 16.2

99 x30% = 29.7

2x80% = 1.6

91 x20% = 18.2

90 < 10% =9

74 x 30% = 22.2

18 x30% = 5.4

50 x20% = 10

65 x 60% = 39

83 x 30% = 24.9

48 X 30% = 14.4

61 x30% = 18.3

56 < 30% = 16.8

52 x70% = 36.4

31 x40% = 12.4

7x10% = 0.7

74 x 90% = 66.6
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